=

FHITSEFER

—h —t
2025 EE % EH:I 7 fE EF‘E%_'ELL EE%’D?BZ
4 A 5 A 6 A 7 A 8 A 9 B 10 A 11 A 12 A 1 A 2 A 3 A
1 NEESSE T2 NEES=T 1 1 [EsERma 1 [EFT#K il 20 EUBRI11/4~11/30 | 1 [RybAm~12/23 w2k [l T H
N K |sEhli&i2 4564 N £ | ZemiR H | Z& 5k IK |[Enraases e o B | 552a/~12/12 EN
2 2 |HEEHER 45 2 | BEEE 2 2 |HEODBERED | 2 [EHRE: 1234 2 2 2 | BRESR 2 | BEeEE
7K & |RERS B 7K N X 713 W=l AEEE N|GPTA=RS il B B [PTASIfltES
3 3 EtarAs 3 [AZAIE 4564 3 |88 T8 3 |EEOOFEHRZED | 3 |48588M~10/9 3 p<ievl=| 3 |[tXFEES 3 3 3
K + N K [EBHS FREESES 7K A EPLO) TS A 7K T N N
4 [4aZER 4 ERdio)s! 4 |RERIE: 1235 4 |IBEx 4 4 4 4 |ZeRE 4 4 4 |[EFT™R 4 |MRFEER EFTR
£ |AFER = JK |EEF TR s B N T10 s N X T20 ji= 7K 7K
) 5 e<sls] 5 5 5 5 ) 5 |ERABE%:65F 5 5 5 5 |6F4&%ix3= T30
T A X +* N & = IK [EERITF# £ B X T26| K
6 6 EsiaN=! 6 | EB=aiB % 6 6 6 |TiES=EH 6 6 |ERIRE2:1456F T14 IR SIHAFEER 6 6 |34F&8H 6
= PN £ | BRRRIREE = 7K + |CAPFHE : 15EREE | B K | BEEEENAERG +* N £ £
7 |osizEisE~a/9 7 |EFTR 7 | E#S 7 7 7 7 7 7 7 7 7
B |eEsk~4/18 £FTFR| K + |PMEBEBES TR A X B N £ =! 7K i *
8 mE| 8 B AMIEEI 2 FiH@ 8 8 S BRI eTE 8 Sl PTASIREIY 8 |5 WEEXLEBEHE | 8 |ER¥MhER £0 T K 8
N N T3 Q=RPMESETHO N & H 7K * B A [BFEARI~1/30 = =
9 |ZKEHRBO 9 (ERRHREZ . £ 9 BELJESiR=YIN=! 9 |BRFZO:54F W FREATE~8/18 | 9 9 | REFMmE: 124 9 9 9 9 9
K | 1A ERA & |PEPEREES B s o 7K T N X T14 QS| N £ A A
10|ZESHO 10 10 srs|10(EE¥E@:54 10 10 (1B RITO N =T GER S B 10 10 10 10|BFBFRER~3/16
7 T N X H 7K & B E#IEOTmA | K T N N
11| REHHEC 11 11 |GSEFBkERE 11 |5FERBAE 11 [iip]=| 11 |1BZERITO 11 11 |AERITE: 1234 11 [ERIZERED 11 11 EEEERsA0l= 11
£ |PTAIRES = N E RS PE I & B X +* N X 721 QS| 7K 7K
12 12 12 12 12 12 |6&EIREAE 12 12 12 |{ERIEBXE@ 12 pPN0I= 12 12
" = ~ s | W % g K [mEToy e | £ A S T27] KR
13 13 13(957® 13 13 13 13 RGOl 13|=E 4564 13 13| BRRIE 4564 13|12&388 13
= N & =] 7K T B X T17 s N £ g
14 |BRA1E 4564 14 14 Sl e R 14 14 14 14 14 14 14 14
B K|csBEEESLD T A X = N & = 7K T T
15|18 1% E 4565 15| BEERi&2 T4 B 15 15 15 pezo]s| 15 15 15|ERIZERREG 15| BRAITE: 1234 15 15
N X = N £ B 7K * B X 723 Q=] =
16 |BEHEIED 16 |B&E=RE £20 16| BN LLAIE~6/27 |16|BRESR £&H RIS 16|%£H 16 16 16|RES 16| A+ —2hH=E 16 16| 3FHAR
IK | SASRITE: 1234 & |RES B 7K T N|BCECEIR~9/22 | K B N |ButhatsERs £ |&4eH =i )=|
17|2E%H.65E 15K EW 17| REL0G 17 |DFBFRER~7/23 W 17|#EEEE~9/19 |17 17|&&H 17 17 17 17 |ZgarEg sy
K| BARE:1236F T N X T9 H= K e B 7K i N N
18 |BLEYE 18 18|<h<EBBRI~6/24]18 18 18| ZnH=E 54 18 18|sERRE2: 1236 18 |zmmm~12/23 T22 Bk} 18 18 |&HARH
& | BRE2O = 7K £ H %N T11 s N K|CSEEEZES =] 7K JK [iHFEERE
19 19 19 19 19 19(93703 19 19 19 19 19 T28]19
* A X T6 Pl HHHRSERO N Eird H 7K e H N X
20 20 20 [IFZmRR 20 20 20 20 20 T18 A0l 20[RAR—BA%® R#EES|20|56ESEH 20 EEpi0l=]
= N il =] 7K T B x +* N £ &
21 |BEEHIRE 21|3I&ELIIEE 21 21 Bl 21 |GRFHARER 21 21 21| REL® 21 21 21 21
B JK [NRT + J=| N EISRYN =] N & = 7K T T
22 |RILE AR 54 | 22 |EEhALE IR ZIRME el 22| F-BErT 22 22 |#aaiBri~9/29 22 22 22 22| 2F—20EEFiHE Y 22
N |sERURE2: 1234 N = N g B 7K * A X T24 Q=] =
23| EFTRIEE 23 23 23 |G EEREER 23 23 [esiol=! 23 23 BiREID]=] 23 |ERFHARER 23 23 ENElEgs] 23
JK |1EEDRs BANRTR | & |1RK  KiREE A K |EFTFR T N X H N|EBTFR & | EFRE A H
24| 0EX:14F T1 PLYPTAVEE 24 | FEE iR 24 |E1Kk4~8/20 24 24 24| BES 24 Eig=XuN=| 24| &Z4kH~1/7 24 24 24
K |Ezes=TH FmEmE o e N X H 7K o =] 7K + N [CSEBEZREAR N
25|28H PTARRS 25 25 |tXFEER 25 25| cxupiAfii~8/31 |25|RE4® 25 25 25 25 25 25
s = 7K £ B N T12 s N S = 7K 7K
26 26 26 |RARIEEES 26 26| B4RBIE 4564 26 |85):34F EE124F [l 26 26 26 26 129 | 26 | i maseE
T A N T7 s N £ |PEER H 7K £ A KN |PhEPEEES 7N
27 27 2719357@ 27 27 | IR 27 27 27 byl = BT H~1/5 27 | RESOFRIE 27| RERS|IEME 27
= N s =] 7K T EEEad(#s B x * N £ &
28| MR E 45 28| iR 28 28 28| tA>AYIF .65 28 28 28|&#&H 28 28| REA®EE 28 28
B 7K * B K |SEBIE: 1235 = N £ | PTANESES H 7K * *
29 [ZEEio]=| 29 29 29 29| RES 29 29| R¥FFR*F 44 29 29 29 29
N N = N & B 7K * A X T25 =
30 30 Ea=RERS 30| 7L EERR 30 30 EEamngsEE 20l 30 30 T15 gefel 30 30 30
7K £ |EPERS B 7K T N X B A £ |PTAREES B
31 51 31 31|RE= 31 31 31
v = £ X BEErI~11/7 7k w
EROR B 20 21 16 7 20 22 18 17 16 18 2
ERERR 3 38 59 75 82 102 124 142 159 175 193 205
[ Y-2=E 7 20 20 16 7 19 22 18 17 16 18 1
EEES 7 37 57 73 80 99 121 139 156 172 190 201
RE 17:30 18.00 1800 18:00 1800 18:00 17.00 1630 1630 1630 16.30 17:00
® : SEEE AR T: FaAbYEAL




